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ENGLISH)

ARITHMETIC PROGRESSION

Example

1. If , 7, 3p be three consecutive terms of an

A.P. Find p, also find the common difference.

W t h Vid S l ti

2p − 1

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_5IQ7sPo67Lht


Watch Video Solution

2. If , , and 

 be three consecutive terms of an

A.P. find x. Also find the terms and common

difference.

Watch Video Solution

x2 + 3x + 2 2x2 − 4x − 6

3x2 − 4x + 14

3. If ,  and  be

three consecutive terms of an A.P. Find x and y

and also that terms. Given that the common

difference of the A.P. is 3.

3x + 4y + 2 x + 3y + 6 4x + 2y

https://dl.doubtnut.com/l/_5IQ7sPo67Lht
https://dl.doubtnut.com/l/_PxuHLMjOaIIz
https://dl.doubtnut.com/l/_pDD99gVZUE7g


Watch Video Solution

4. Show that ,  , 

 are in A.P.

Watch Video Solution

1

√10 + √13

1

√13 + √7
1

√7 + √10

5. Sum of three positive integers in A.P is 69. The

product of smaller two parts is 483. Find the

integers.

Watch Video Solution

https://dl.doubtnut.com/l/_pDD99gVZUE7g
https://dl.doubtnut.com/l/_ree5cUZZkNwE
https://dl.doubtnut.com/l/_HwNkOQDi1YkP


6. For the A.P. 3, 8, 13, 18, ... Which term of the

progression is 78?

Watch Video Solution

7. For the A.P. 3, 8, 13, 18, ... Find 20th and 25th

term of the A.P.

Watch Video Solution

8. The sum of 4th and 8th term of an A.P. is 24

and the sum of 6th and 10th term is 44. Find the

https://dl.doubtnut.com/l/_EaSV0QBSmdYJ
https://dl.doubtnut.com/l/_LF5G5CJMjzOE
https://dl.doubtnut.com/l/_sUN9ex8poQDn


A.P.

Watch Video Solution

9. Which term of the progression , ,...

is the first negative term?

Watch Video Solution

19, 18
1

5
17

2

5

10. How many muliples of 4 lie between 10 and

250?

Watch Video Solution

https://dl.doubtnut.com/l/_sUN9ex8poQDn
https://dl.doubtnut.com/l/_WkqdmFBnMy3t
https://dl.doubtnut.com/l/_rDFxYEo2rzNN


11.  is the nth term of a sequence.

Find whether it is an A.P. or not. If it is an A.P. Find

it's first term and C.D.

Watch Video Solution

Tn = 4n − 10

12. Find the sum of 1.5+2.2+2.9+...upto 25th term.

Watch Video Solution

13. In an AP:(ii) given a=7, ,find d and .

Watch Video Solution

a13 = 35 S13

https://dl.doubtnut.com/l/_pHg51QVHTzZP
https://dl.doubtnut.com/l/_u9IChbeY04z8
https://dl.doubtnut.com/l/_BZbMlzvZO8Lh


14. If the last term is 28, the sum of the arithmetic

series who's first term is a is 144. If number of

terms is 9 find a.

Watch Video Solution

15. How many terms of the A.P. 17 ,15, 13 , 11,... must

be added to get the sum 72?

Watch Video Solution

https://dl.doubtnut.com/l/_BZbMlzvZO8Lh
https://dl.doubtnut.com/l/_IwT6u8wdEa1q
https://dl.doubtnut.com/l/_lIfvB0Mm4cVp
https://dl.doubtnut.com/l/_IjPiwnu3a92c


16. Find the sum of first 15 positive integer which

are are divisible by 8.

Watch Video Solution

17. In an A.P. the sum of the first n terms is

. Find its 22nd term also determine

its first term and c.d.

Watch Video Solution

−
3n2

2
17n

2

18. If  denotes the sum of first n terms of an

A.P. prove that .

Sn

S12 = 3(S8 − S4)

https://dl.doubtnut.com/l/_IjPiwnu3a92c
https://dl.doubtnut.com/l/_TPkqemkNKwEy
https://dl.doubtnut.com/l/_6XkYf3iPz06y


Exercise

Watch Video Solution

1. Identify which of the following sequence is in

A.P. Also find the first term and common

difference if they form an A.P.

4,7,10,13,......

Watch Video Solution

https://dl.doubtnut.com/l/_6XkYf3iPz06y
https://dl.doubtnut.com/l/_BZT6f38EJIUY


2. Identify which of the following sequence is in

A.P. Also find the first term and common

difference if they form an A.P.

-6,-2,2,6,......

Watch Video Solution

3. Identify which of the following sequence is in

A.P. Also find the first term and common

difference if they form an A.P.

0.5,0.55,0.555,....

Watch Video Solution

https://dl.doubtnut.com/l/_h6TMJJctctiO
https://dl.doubtnut.com/l/_XaFrEdtBgaU9


4. Identify which of the following sequence is in

A.P. Also find the first term and common

difference if they form an A.P.

1^2, 2^2, 3^2, 4^2,....

Watch Video Solution

5. Identify which of the following sequence is in

A.P. Also find the first term and common

difference if they form an A.P.

6,9,12,15,.....

https://dl.doubtnut.com/l/_XaFrEdtBgaU9
https://dl.doubtnut.com/l/_RU1UtxH2keIG
https://dl.doubtnut.com/l/_DKRs8hZIY3pz


Watch Video Solution

6. Identify which of the following sequence is in

A.P. Also find the first term and common

difference if they form an A.P.

, , , ,....

Watch Video Solution

2 8 18 32

7. 4/5,a,2 are three consecutive terms of an

A.P.,find a,also the common difference.

Watch Video Solution

https://dl.doubtnut.com/l/_DKRs8hZIY3pz
https://dl.doubtnut.com/l/_NqGFkL6n4jVm
https://dl.doubtnut.com/l/_k8VysyH82r6S


8. If ,  and  are three

consecutive terms of an A.P., find the value of m.

Watch Video Solution

m + 2 4m − 6 3m − 2

9. If ,6x+2 2x+7` are three consecutive

terms of an A.P. Find x.

Watch Video Solution

8x + 3 and

https://dl.doubtnut.com/l/_k8VysyH82r6S
https://dl.doubtnut.com/l/_hkNpmD11vd5S
https://dl.doubtnut.com/l/_HZJZvhU79hLU


10. For what value of p are ,13,  three

consecutive terms of an A.P.

Watch Video Solution

2p + 1 5p − 3

11. Find the value of x for which ,

and 6 are in A.P.

Watch Video Solution

x2 − 7x x2 + 9

12. If ,  and 

be three consecutive terms of an A.P. find x. Also

x2 − 5x − 4 2x2 − x − 6 x2 + 4x − 2

https://dl.doubtnut.com/l/_0icl8kQRFeBg
https://dl.doubtnut.com/l/_S0BargDreJt2
https://dl.doubtnut.com/l/_EhQIgXLGpsqU


find the terms and common difference.

Watch Video Solution

13. If ,  and 

 are three consecutive terns of an

A.P. Find x. Also find the terms and common

difference.

Watch Video Solution

x2 + 3x + 8 2x2 − 4x − 12

3x2 + 4x + 13

14. If , ,  be three

consecutive terms of an A.P. find x,y and also the

3x − 2y + 1 2x + 3y + 9 2x + y

https://dl.doubtnut.com/l/_EhQIgXLGpsqU
https://dl.doubtnut.com/l/_u7leZrFXd7c8
https://dl.doubtnut.com/l/_sCPWrBWpc6Ai


terms.Given the common difference is -3.

Watch Video Solution

15. If ,  and 

 be three consecutive terms of an

A.P. find x,y and also the terms. Given the common

difference is 5.

Watch Video Solution

2x + 3y − 2 −3x + 2y − 4

−3x + 4y − 5

16. Show that , ,  are in

A.P.

1

√2 + √3

1

√3 + 1

1

√2 + 1

https://dl.doubtnut.com/l/_sCPWrBWpc6Ai
https://dl.doubtnut.com/l/_L2pOWEfdhE4Y
https://dl.doubtnut.com/l/_B33Z2n9eUm2o


Watch Video Solution

17. Show that

Watch Video Solution

+ + + = 1
1

3 + √7

1

√7 + √5

1

√5 + √3

1

√3 + 1

18. Show that , ,

are in A.P.

Watch Video Solution

1

√11 + 3

1

√13 + 3

1

√11 + √13

https://dl.doubtnut.com/l/_B33Z2n9eUm2o
https://dl.doubtnut.com/l/_FKds6zj6ag2i
https://dl.doubtnut.com/l/_08HZfl8gnwm6
https://dl.doubtnut.com/l/_YWJ8oF3lqsuK


19. Sum of three positive integers in A.P. is 48. The

product of smaller two parts is 208.Find the

integers.

Watch Video Solution

20. Sum of three positive integers in A.P. is 90.

The product of smaller two part is 750. Find the

integers.

Watch Video Solution

https://dl.doubtnut.com/l/_YWJ8oF3lqsuK
https://dl.doubtnut.com/l/_BGd6gfXLM8wu


21. Sum of three positive integers in A.P. is 138.

The product of the extremities is 2100. Find the

integers.

Watch Video Solution

22. The sum of three numbers in A.P. is 18 and

their product is 192. Find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_4QAuS1ZXYo9x
https://dl.doubtnut.com/l/_UfM6CybTuWEF

